Spring '06/MAT 140/ Worksheet 5 Name: Sﬂf‘/&"“ Show all your work.

1. (10pts) Solve the following inequalities and:
a) shade the solution on the number line
b) write the solution in interval notation

1450 ad 3-2¢<7 | A-(-5)] 2 4
s ﬁiljl"w.ic"grm 3
_r 5'_23{ -—Ex {4_ {_.. E}J ; Jr?-‘l “E ?, ‘£‘
gEx oK K= o
r—'_‘—‘-u\r’,-r"'_"‘-\‘j}
) f:'i':ff..-"ic — ety
- e g J S "‘Gj = =3
-7 |
¥ X299 o x2-l
—pEX& 2 : )
XE-(_/_'MI-Q ﬁ—rf-lr;ng
Ae (,griLJ

2. (5pts) Use your calenlator to solve the inequality 2 — 5z < 17. Sketch the appropriate
graph here, shade your solution on the number line and write it in interval notation.
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3. (5pts) Let A=(2,-3), B=(7,2),C = (1.1). Without using the Pythagorean theorem,
determine whether the triangle ABC' is a right triangle
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4. (3pts) The line 3x 4+ 2y = 5 is given.

a) Find the equation of the line that passes through (3, 2) and is parallel to the given line
b) Sketch the picture.
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3. (9pts 1 '

(5pts) Find the equation of the circle whose diameter is the line segment connecting

(—1,3) and (5,—3). Draw the picture. - 5
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